= AH O
M = 0l &8 AF & H Al A
20119 = 20lAa LBHSIAH S Al ~ S AIDF
A SAD
HE: S ADfE
SR TAIHES MAHAE 22l (&2 &2
(=] % o = = T I|_-|LI;=|_||:_ =
2N -3 - c2(3H) - NEME - HES Ol &F2H Oll AF O Hns
S Al 18,129,853 9,665,773 8,464,080
= 400,000
& 6,700,000
Al 11,029,853
SAIDHE 17,491,388 9,434,488 8,056,900
= 400,000
2 6,700,000
Al 10,391,388
SAIAHES HHE 22 1,327,908 171,312 1,156,596
= 100,000
Al 1,227,908
TS 12 HXMNLAMEXF H1E NP2HAAHE 177,000 100,000 77,000
g 89
207 A FoHE| 177,000 100,000 77,000
01 Ad2E29H| 177,000 100,000 77,000
OZE1-2 HXIMNLAMLXP2HAISX AL HE
+g 29(3x2) 177,000
SAAHEANEZE HEXN2HAAHE =& 265,868 26,272 239,596
= 100,000
Al 165,868
201 dEt24| 25,868 26,272 AN404
01 At Zeltl 25,868 26,272 AN404
OEIANZAIAHERARG S
70,000& +73| x17H 8,330
Oger=g2H| 17,538
405 KHAFSH| 240,000 0 240,000
= 100,000
Al 140,000
01 ML EEFHSHI 240,000 0 240,000
OZAAHEXHEMH HAEHI 7L 240,000
= 100,000
Al 140,000
NG II=ER Y TA|ZHE S =X 5,040 5,040 0
202 04 bl 5,040 5,040 0
01 =20l 5,040 5,040 0
Oofersie L SAHELR =X 5,040
2SR = CA THAMAIY HE =g 200,000 0 200,000
207 ARl 200,000 0 200,000
01 A2E9H| 200,000 0 200,000
OZst23 F=H TATMAIY XIREHAHE
2 29 200,000
SL3A =4HE 8 100,000 0 100,000
207 A FIoHE| 100,000 0 100,000
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SRl SAIAHE MAX 2el (el &)
_ _ _ HET
A -3 -H2A(SH) - HEAMY - BES O AF K Ofl At ot HwsZ
01 AP 100,000 0 100,000
O=2d32xd J2Ha+8 H32=9| 100,000
SADI=HE HE 2 120,000 0 120,000
207 4RI 120,000 0 120,000
01 AR 120,000 0 120,000
OEAIIZ2He 86HE 849 120,000
SAREAHE 2 (HY) 24 460,000 0 460,000
207 o1 RO 460,000 0 460,000
01 2 E S| 460,000 0 460,000
OZAZ2IHE +8(HY) 284 230,000
O=33 oMl TA2A2HE HAEAZA 230,000
SADIBIAIY &= 16,160,480 9,215,000 6,945,480
= 300,000
= 6,700,000
Al 9,160,480
NE-AF(DSH)2 2 HEAY 2,800,000 700,000 2,100,000
401 A& HI2L S 2,800,000 700,000 2,100,000
01 Al&H] 2,789,920 694,960 2,094,960
OME~AE(LEH)2 HRIHE A
2,800,000, 0002 %99 . 64% 2,789,920
03 A& SO 10,080 5,040 5,040
OME~AE(LEH)2 HRHEAME
2,800,000, 0002 %0. 36% 10,080
SR o B2 HEBA 1,300,000 450,000 850,000
401 A& HI 2SI 1,300,000 450,000 850,000
01 Al&H] 1,295,320 448,380 846,940
OO0 & S22 MHESA
1,300,000, 00094 99, 64% 1,295,320
03 Al& L 4,680 1,620 3,060
R0 & S22 HE3A
1,300,000, 0002 *0. 36% 4,680
TANBRL(E - A2) HHIAL 3,620,480 3,691,000 AT70,520
201 Let2IH| 480 0 480
01 AtR22lH 480 0 480
OFAZE M= 7Y 120, 0002 * 12 43 480
401 A& HIZ S 3,620,000 3,691,000 AT71,000
01 Al&t| 3,594,620 3,665,404 AT70,784
OZX4&s =2 M4 B AL 700,000,000 *99. 37% 695,590
HAA TAE2 DA 90,000
OMEl 2 HAESA  300,000,0002 «99. 28% 297,840
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BT ZAIDIEAIE B E (el =@
_ _ _ Muo
SNBSS - MBAY - BES 0 & 24 e {imE=Eh
O=SLHOIIE &€ S22 HESAM
100,000,000 *99. 10% 99,100
OBHLYZ B2 HABM
150,000,000 *99. 28% 148,920
O2H1 58 42 HABM
100,000, 000& *99. 10% 99,100
OSE2IHAOIE A2 IHESA
100,000, 000& *99. 10% 99,100
O3EANE A2 HESA
100,000,000 *99. 10% 99,100
OXZLH0E &2 HESA
100,000,000 *99. 10% 99,100
OMEBFXE~SEANE 2t 22 HESA
100,000, 000& *99. 10% 99,100
OZXOtIMESR A2 HEBA
300,000,000 *99. 28% 297,840
O EH0IOHHEH AZ2H4 50,000
OsZ1Z2(EFME &) A2 HEZSA
100,000, 000& %99. 10% 99,100
OsgZ (8513 &) 42 HEIA
100,000,000 %99. 10% 99,100
O&FNH2Z A2 HAZSA
100,000, 000& *99. 10% 99,100
OZAl DI2AI4 HHIALS
25,000,000& » 1270 2~ +99.28% 297,840
O&E2+4=x FHIAY
30,000,000 * 1001 2 +99. 28% 297,840
OAIHX l=FHHIALS
20,000, 0003 +15JH A~ +99. 28% 297,840
OZx~ZAZ W&EZA 50,000,000 *99.82% 49,910
OZ3Z2Z AZMEZA 100,000,000 *99. 1% 99,100
OQEAIIX A& (HEHEZ=Z2)HHIALY 40,000
OFII0IE TAAHEAE 2X0H= 40,000
03 A&=20HYI 25,380 25,596 2216
OX4ts S2 HWEZAL 700,000,000 +0.63% 4,410
OMH =2 HESAM 300,000,000 #0.72% 2,160
O=SLHOIHIE &€ S22 HESAM
100,000,000 *0.90% 900
OBHLYZ B2 HABM
150,000, 000& *0.72% 1,080
O331 58 22 MHEEM
100,000, 000& *0.90% 900
OSE2IHAOIE A2 IHESA
100,000,000 #0.90% 900
OZ3EANE A2 HESAM
100,000,000 *0.90% 900
OXZLH0E 22 HESA
100,000, 000& *0.90% 900
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M S AN

SRl TADIBHAIE &5 (ctel: &
SN HB G (BH) - MRAY - BES 0l & B Hlm= 2
Oil &k o8
ONMBFXUE~BEAE 2t &2 HESA
100,000, 0002 *0.90% 900
OZXOtIIEYE AZIE S A
300,000,000 *0.72% 2,160
OST12Z(HF=AMA &) A2 WESA
100,000, 000& *0.90% 900
OsgZ (8503 &) 42 HEIA
100,000, 000& *0.90% 900
O&AH2Z 22 JHES AL 100,000,000 *0.90% 900
OS Al OI2AIE HUIMZ 1,710
O&s+=x FUAL
30,000,000 *10IH 22+0.72% 2,160
OAIJHX lEFHIAS
20,000,000 * 1570 2 *0.72% 2,160
OFX~ZBN8Z WS A 50,000,000& *1.08% 540
OZdg2z A2I&3 A 100,000,000 *0.90% 900
otMsr EdaEd =4 600,000 0 600,000
= 300,000
Al 300,000
401 A &HIL 2048 600,000 0 600,000
= 300,000
Al 300,000
01 Al&H| 596,220 0 596,220
O etd&t Eaigrd EAMY
600,000, 000& *99.37% 596,220
= 300,000
Al 296,220
03 Al 20| 3,780 0 3,780
O etdst Eaighd EAMY
600,000, 000& *0.63% 3,780
HL XX RS ALS 6,700,000 924,000 5,776,000
= 6,700,000
401 A &HIL 2048 6,700,000 924,000 5,776,000
= 6,700,000
01 Al&t| 6,683,250 918,179 5,765,071
O HEEXXAINBAIEALS
6,700,000, 0002 *99.75% 6,683,250
= 6,683,250
03 Al 2 0HY| 16,750 5,821 10,929
O HEEAXFIIELAIZ AL
6,700,000, 000& *0.25% 16,750
& 16,750
SHEUES HE 3 A 100,000 100,000 0
401 AIEHIZ 2 100,000 100,000 0
01 Al&H| 99,280 99, 100 180




DAl
DS AHE
D SADIBAIE B S

B . M. CHe (5 HEAY . B2 Al OH HEE =}
Ostdut=E= N 100,000, 000 *99.28% 99,280
03 Al 20HY| 720 900 A180
Ostd &= ) 100,000, 000& *0.72% 720
A AHE AN (E SAINY AFY) 440,000 0 440,000
401 AIEHIZRb] 440,000 0 440,000
01 Al&H| 436,832 0 436,832
Ogad & TA 436,832
03 AIE=20HdI 3,168 0 3,168
Ogag 2 & 3,168
92 =32 eSS 450,000 0 450,000
401 AIEHIZ 20 450,000 0 450,000
01 Al&H| 446,760 0 446,760
ogs sz
450,000, 0002 *99. 28% 446,760
03 Al =20HY| 3,240 0 3,240
oS zeE2
450,000,000& *0.72% 3,240
g 2 H2(3-7) HEAY 150,000 0 150,000
401 AIEHIZ 20 150,000 0 150,000
01 Al&HI 148,920 0 148,920
s o HZ(3-7)HE A Y 148,920
03 AIE=20Hl 1,080 0 1,080
O3S 2F HZ(3-7)MEAS 1,080
Aot arey g 3,000 3,000 0
AUHAACHR =4 3,000 3,000 0
203 R F&d| 3,000 3,000 0
03 AIMFAHR= 3,000 3,000 0
OZ A HEF 3,000
AJIEH K& 408,600 0 408,600
RPN P ol 408,600 0 408,600
SHEZ 0l X 300,000 0 300,000
401 AIEHIZ 2 300,000 0 300,000
01 Al&HI 300,000 0 300,000
OUAAECC HEZ A =X 300,000
=D& X4 K& 8,600 0 8,600
202 O4dl 6,600 0 6,600
01 =LHOA b 6,600 0 6,600
O==Z&¥xHE = 6,600
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B =00 X
el BEIEA L (e a2
SH-EH . O3 - MBAY - BAS 0l aF ol Soe HRZ2
203 LR F=&H| 2,000 0 2,000
03 AEBFAHR2F=EH| 2,000 0 2,000
O2Z&EITH AIMF=ZAH| 2,000
FOI=2AANS XS 100,000 0 100,000
402 QI2tXH=0lM 100,000 0 100,000
01 Q228 =x 100,000 0 100,000
OSTHZHDIES KA (THAH 100,000
HESAAHI (T AID) 39,115 40,535 A 1,420
Ol HY|(Z Al ) 20,361 21,715 AN 1,354
ol =AY (Z Al D) 20,361 21,715 AN 1,354
101 Q1A H| 20,361 17,515 2,846
03 RIHAZ=Z X2 20,361 17,515 2,846
O S AIDIBFAIEAIAE 2EI(1Y) 20,361
=2 874,720& x12& 10,497
o203 10,496,640& / 12& x400% 3,499
WESXHI 120,000& *12& 1,440
HHZ A 130,000 12& 1,560
NEIEEE RN
5,382 *15A1 2tx1 5HH 122 1,454
HESIHH|(H, =4) 874, 720& x120% 1,050
IS A 43,0503 x20L 861
Jl2dHI(Z Al 18,754 18,820 \66
JI2dEI(ZAIDH 18,754 18,820 \6B6
201 B3| 7,314 7,940 A 626
01 At22teldl 6,264 1,220 5,044
O3 &l 3,240
O2J18&)| dE= 45,500%24! x 128 1,092
ONE2R=EZ 483,000& x42 | 1,932
02 ss2494l 1,050 6,720 N5,670
Os3Rk= 1,050
SAHE Y B DY SIISH iR
1, 7503 x50 122 1,050
202 04| 7,240 5,880 1,360
01 Z2WAHYI 7,240 5,880 1,360
OEA dRFA 7,240
203 SR =8| 4,200 0 4,200
04 2EANSIEHRF=AH| 4,200 0 4,200
ORM2IYL2TAY| 4,200
MPES(ZAD 190,750 190,750 0
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HH: MIPES(TAID)
Sl BEXMXE(ZAILD) (ctel &
- _ _ boE ==
2N -3 - c2(3H) - NEME - HES Ol & oK ioﬂ/i\_FOH Hns
SBEXE(ZAlID) 190,750 190,750 0
Kl g absH( = Al D) 190,750 190,750 0
311 Xt 20| XHakst 190,750 190,750 0
06 JIELXIL =0] XHA & 190,750 190,750 0
OdNg A Z & 3,500,000, 000& *5.45% 190,750




